1.

x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242




Ax? —4xy — 10y? =(3x + By)(2x +2y) & W}, AB 2] <

g Fajolat

(3x + By)(2x + 2y)

.. AB=-30

= 6x2 + 6xy + 2Bxy + 2By?

= Ax? — 4xy — 10y?

A=6,6+2B=-4, B=-5




3. (x=3)(x*+9)(x+3)= HI/HStH?

D x2-9 @ x?-81 ® x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x>+9) = (x> -9)(x2 +9) = x* - 81




4. a=8+2V2 L4 W, a®-16a+ 55 2 & T35t}

> E.

> ®™et: 1

(a-11)(a-5) = (8 +2V2-11)(8 +2V2 - 5)
=(2v2-3)(2V2+3)=-1

~&B

a=8+2V294 a-8=22

FH-S A FS5HH a? - 16a + 64 = 80|22
16a = —56

(A= -56 + 55 = -1




5. ax’+24x+b = (3x+c)? D, A5 a, b, ¢ O] ke A= oY

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4

~&B

(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4




